
180°

180°

+90°

-90°

Q

Q

6

7

8

9

Monitor Desk Mount
INSTALLATION MANUAL

75x75
100x100

(1~9kg)x2
(2.2~19.8lbs)x2

32"

270°
360°

1

1

2

1

1

2

Q
P

Contact us: 9899250704, 
www.rifeindia.com

2MSGLP



2

B

B

4

3

5

A (x1)

M4x12 (x4)
M-A

M4x16 (x4)
M-B

M6x12 (x4)
M-C

M6x16 (x4)
M-D

D6 (x4)
M-E M-F (x4)

M

Q

- A
M - C

M - E

Q

M - B
M -D

M - E

M - F

1

2

B (x1) C (x1)

I (x1) J (x1) K (x1) O (x4) 4mm (x1)
P

6mm (x1)
Q

M6X10 (x2)
L

M6X12 (x3)
M

M6X16 (x3)
N

D (x2) E (x1) F (x1) G (x1) H (x1)

2a-1

2a-2

2a-2a 2a-2b

2a-3 2a-4

2b-1 2b-2

O

2b-31

P

M

P

O

P

G

J

H

M

P

L P L

F F

E

N
B

C

10
-5
5m

m

50
-8
5m

m
K

I

A




